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Question Paper Code : 2513
LL.B. (Semester-IV)  Examination, 2018

( New Course )
ADMINISTRATIVE LAW-II

[ Sixth Paper ]
Time : Three Hours] [Maximum Marks : 100
Note : Answer five questions in all. Question no. 1 is

compulsory. Besides this, attempt one question from
each unit.

uksV % dqy ik¡p iz'uksa ds mŸkj nhft,A iz'u la- 1 vfuok;Z gSA blds

vykok] izR;sd bdkbZ ls ,d iz'u dhft,A

1. Write short notes on the following : [4x10=40]
fuEufyf[kr ij laf{kIr fVIIkf.k;k¡ fyf[k,%

(a) Error of law apparent on the face of record.
vfHkys[k ij izdV fof/k dh =qfV

(b) Jurisdictional error
{ks=kf/kdkj lECkU/kh Hkwy

[P.T.O.]
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(c) Injunction

O;kns'k

(d) Grounds for the issue of writ of certiorari

mRizs"k.k ;kfpdk tkjh gksus ds fy;s vk/kkj

(e) Present position of tortious liability of government

ljdkj dk nq"dR̀; lEcU/kh orZeku nkf;Ro

(f) Lokayukta in states

jkT;ksa esa yksdk;qDr

(g) Privileges of government in suits

oknksa esa ljdkj dk fo'ks"kkf/kdkj

(h) Liability of public undertakings in tort.

yksd miØeksa dk vid`R; lECkU/kh nkf;Ro

(i) Give meaning of public undertaking and mode of
its creation.

yksd miØe dk vFkZ o blds l̀tu dk rjhdk crkb;sA
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(j) Achievement of Right to Information Act.
lwpuk vf/kdkj vf/kfu;e dh miyfC/k;k¡

UNIT-I / bdkbZ-I
2. What do you mean by exhaustion of administrative

remedies. Whether this principle applies to the
enforcement of fundamental rights ? Discuss with the
help of decided cases. [15]
iz'kklfud mipkjksa ds lekiu ls vki D;k le>rs gSa \ D;k ;g

fl)kUr ewy vf/kdkjksa ds izorZu dks ykxw gksrk gS \ fu.khZr

ekeyksa dh lgk;rk ls O;k[;k dhft,A

3. Discuss the traditional and modern function of Writ of
Habeas Corpus with the help of case law. [15]
cUnh izR;{khdj.k ;kfpdk dk ikjaifjd o vk/kqfud dk;Z fu.khZr

oknksa ds ek/;e ls dhft,A

UNIT-II / bdkbZ-II
4. Whether the state is bound by a statute ?  Refer to

decided case law. [15]
D;k jkT; lafof/k }kjk vkc) gS \ fu.kZ;t fof/k ds fl)kUrksa

dk gokyk nhft,A
[P.T.O.]
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5. The government enjoys privilege of notice in litigations
as compared to an individual. But in course of time it
has been found that this privilege should be abolished.
Answer with reasons. [15]
ljdkj dks oS;fDRkd yksxksa dh rqyuk esa eqdneksa esa lwpuk dk

fo'ks"kkf/kdkj izkIr gSA fdUrq le; ds lkFk ;g ik;k x;k gS fd

bl fo'ks"kkf/kdkj dks lekIr dj fn;k tkuk pkfg;sA dkj.k

lfgr mRRkj nhft,A

UNIT-III / bdkbZ-III
6. Discuss the working of Lokayuktas in the states. Whether

the institution has been successful in achieving its
objective ? If not, make suggestions to improve the
institution. [15]
jkT;ksa esa yksdvk;qDr dh dk;Ziz.kkyh dh O;k[;k dhft;sA D;k

laLFkk vius mn~ns';ksa dks izkIr djus esa lQy jgh gS \ ;fn ugha]

rks laLFkk dks csgrj cukus gsrq lq>ko nhft,A

7. Discuss the salient features of Right to Information Act,
2005. [15]
lwpuk vf/kdkj vf/kfu;e] 2005 dh eq[; fo'ks"krkvksa dh

O;k[;k dhft,A
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UNIT-IV / bdkbZ-IV
8. What do you mean by public corporation ? Discuss its

characteristics. [15]
yksd fuxe ls vki D;k le>rs gSa \ blds y{k.kksa dh O;k[;k

dhft;sA

9. Why Governmental control should be exercised on public
corporations ? Discuss the road map of governmental
control with reference to autonomy of public
corporations. [15]
yksd fuxeksa ij ljdkjh fu;a=.k D;ksa iz;ksx fd;k tkuk pkfg;s\

yksd fuxeksa dh Lok;Ÿkrk ds lanHkZ esa ljdkjh fu;a=.k dh

O;k[;k dhft;sA

----- x -----
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